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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given  

therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Give the various definitions of Statistics. Write a note 

on origin and development of Statistics. Give the uses 

of Statistics in various fields. 

lkaf[;dh dh fofHké ifjHkk”kk,¡ fyf[k,A lkaf[;dh foKku dh 

mRifŸk ,oa fodkl ij ys[k fyf[k,A lkaf[;dh ds mi;ksxksa 

ij izdk’k Mkfy,A 

2. Write an essay on Integration and its uses in Economic 

theory. 

lekdyu rFkk vkfFkZd fl)kUr esa blds iz;ksx ij ,d 

fucU/k fyf[k,A 

3. Define Index Numbers. How are these constructed ? 

Give the problems involved in their construction. Give 

the various uses of Index Numbers. 

lwpdkad D;k gS \ bldk fuekZ.k dSls djrs gSa \ lwpdkad 

jpuk ls lEcfU/kr lwpukvksa ds ckjs esas fyf[k,A lwpdkad ds 

egRo ,oa mi;ksxksa ij izdk’k Mkfy,A 



 [ 3 ] BAEC–301/EC–05 

B-81 P. T. O. 

4. What do you understand by Regression ? Write about 

Regression lines and their uses. Find two lines of 

Regression from the data given below : 

X Y 

158 

160 

163 

165 

167 

170 

172 

175 

177 

181 

163 

158 

167 

170 

160 

180 

170 

175 

172 

175 

izfrxeu ls vki D;k le>rs gSa \ izfrxeu js[kkvksa dks 

ifjHkkf”kr djrs gq, muds mi;ksx crkb,A fuEufyf[kr 

vk¡dM+ksa ls nksuksa izfrxeu js[kk,¡ Kkr dhft, % 

X Y 

158 

160 

163 

165 

167 

170 

172 

175 

177 

181 
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160 

180 

170 

175 

172 

175 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Given the following values of A, B, C. Find : 

(a) 3A + 2B C   

(b) 4A + B+3C   

1 0 1 3 1 0 4 2 6

A = 2 1 0 , B= 1 2 1 , C 3 4 2

1 3 2 3 2 0 1 0 1

  

A, B, C ds fuEufyf[kr ekuksa ls Kkr dhft, % 

¼v½ 3A + 2B C   

¼c½ 4A + B+3C   

1 0 1 3 1 0 4 2 6

A = 2 1 0 , B= 1 2 1 , C 3 4 2

1 3 2 3 2 0 1 0 1

  

2. What is a time series ? Give the various components of 

a time series. 

dky Js.kh D;k gS \ dky Js.kh ds fofHké ?kVdksa ds ckjs esa 

foLrkjiwoZd crkb,A 
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3. Define the following giving one example for each : 

(a) Random Experiment 

(b) Equally Likely Events 

(c) Complementary Events 

(d) Independent Events 

fuEufyf[kr dks ,d mnkgj.k lfgr ifjHkkf”kr dhft, % 

¼v½ ;kn`fPNd vfHkiz;ksx 

¼c½ lglEHkkoh ?kVuk,¡ 

¼l½ vuqiwjd ?kVuk,¡ 

¼n½ Lora= ?kVuk,¡ 

4. Explain the following and differentiate between them : 

(a) Stationary Population 

(b) Stable Population  

fuEufyf[kr dks ifjHkkf”kr dhft, rFkk nksuksa esa vUrj crkb, % 

¼v½ fu’py tula[;k 

¼c½ fLFkj tula[;k 

5. Write a note on Binomial Distribution. Give the uses 

and properties of Binomial Distribution. 

f}in caVu ij ,d fVIi.kh fyf[k,A blds xq.kksa rFkk 

mi;ksxksa ij izdk’k Mkfy,A 

6. What is dispersion ? How is it different from central 

tendency ? Discuss the various measures of dispersion. 

vifdj.k ls vki D;k le>rs gSa \ ;g dsUnzh; izo`fŸk ls dSls 

vyx gS \ vifdj.k dh fofHké ekiksa ds ckjs esa crkb,A 
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7. What do you understand by Extrapolation ? Give a 

brief description of the methods used for Extrapolation. 

ckáx.ku  ls vki D;k le>rs gSa \  ckáx.ku dh fofHké 

fof/k;ksa dk laf{kIr fooj.k nhft,A 

8. Write a note on Analysis of Input-Output tables. 

vkxr&fuxZr lkj.kh fo’ys”k.k dks le>kb,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Which one of the following is termed as Ideal Index 

Number ? 

(a) Laspeyre 

(b) Paasche 

(c) Fisher 

(d) Drobish Bowley 

fuEufyf[kr esa ls fdls vkn’kZ lwpdkad dgk tkrk gS \ 

¼v½ ykLis;j 

¼c½ ik’ks 

¼l½ fQ’kj 

¼n½ MªkWfcl ckmys 
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2. The probability of the sun rising in the west is : 

(a) 0 

(b) 1 

(c) 1/2 

(d) None of the above 

lw;Z ds if’pe ls mn; gksus dh izkf;drk gS % 

¼v½ 0 

¼c½ 1 

¼l½ 1@2 

¼n½ mi;qZDr esa ls dksbZ ugha 

3. Histogram is used to calculate : 

(a) Mean 

(b) Median 

(c) Mode 

(d) Variance 

vk;rfp= ls fdldh x.kuk dh tkrh gS \ 

¼v½ ek/; 

¼c½ ekf/;dk 

¼l½ cgqyd  

¼n½ izlj.k 

4. If A ={2, 4, 6, 8, 10, 12} and 

B={2, 3, 5, 8, 11, 12, 16}, then (A B) (A B)  is 

equal to : 

(a) {3, 5,11}  
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(b) {2,8,12}  

(c) {4, 6,10}   

(d) {3,5,16}  

;fn A ={2, 4, 6, 8, 10, 12} rFkk 

B={2, 3, 5, 8, 11, 12, 16}] rks (A B) (A B)  dk 

eku gksxk % 

¼v½ {3, 5,11} 

¼c½ {2,8,12} 

¼l½ {4, 6,10} 

¼n½ {3,5,16} 

5. The Karl Pearson‟s coefficient of skewness J = 0.5, 

Mean (X) 15  and standard deviation ( ) 10 , then 

mode is : 

(a) 5 

(b) 15 

(c) 10 

(d) 20 

;fn dkyZ fi;lZu dk fo”kerk xq.kkad J = 0.5] ek/; 

(X) 15 rFkk izeki fopyu ( ) 10 ] rks cgqyd dk 

eku gksxk % 

¼v½ 5 

¼c½ 15 

¼l½ 10 

¼n½ 20 
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6. If for a normal distribution mean = 10 and standard 

deviation = 5, then the median is : 

(a) 10 

(b) 5 

(c) 15 

(d) 0 

;fn ,d lkekU; caVu ds fy, ek/; = 10 rFkk izeki 

fopyu = 5, rks ekf/;dk dk eku gksxk % 

¼v½ 10 

¼c½ 5 

¼l½ 15 

¼n½ 0 

7. If 0.45yxb  and  0.8xyb , correlation coefficient 

r will be :  

(a) 0.36 

(b) 0.6 

(c) – 0.36 

(d) – 0.6 

;fn 0.45yxb  rFkk  0.8xyb ] rks lglEcU/k xq.kkad 

dk eku gksxk % 

¼v½ 0-36 

¼c½ 0-6 

¼l½ – 0.36 

¼n½ – 0.6 
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8. Index Numbers are known as economic : 

(a) Lactometer 

(b) Spirameter 

(c) Barometer 

(d) Calorimeter 

lwpdkad gksrs gSa vkfFkZd % 

¼v½ ySDVksehVj 

¼c½ LikbjkehVj 

¼l½ cSjksehVj 

¼n½ dSyksjhehVj 

9. Vital Statistics is mainly concerned with : 

(a) Births 

(b) Deaths 

(c) Marriage 

(d) All of the above 

tUe&ej.k lkaf[;dh eq[;r% lEcfU/kr gksrh gS % 

¼v½ tUe ls 

¼c½ e`R;q ls 

¼l½ fookg ls 

¼n½ mi;qZDr lHkh 

10. Methods for Interpolation can be divided into : 

(a) Two parts 
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(b) Three parts 

(c) Four parts 

(d) Five parts 

vkUrjx.ku dh jhfr;ksa dks ck¡Vk tk ldrk gS % 

¼v½ nks Jsf.k;ksa esa 

¼c½ rhu Jsf.k;ksa esa 

¼l½ pkj Jsf.k;ksa esa 

¼n½ ik¡p Jsf.k;ksa esa 
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